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Others

1. The base and corresponding altitude of a

parallelogram are 10 cm and 12 cm
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respectively. If the other altitude is 8
 cm, find

the length of the other pair of parallel sides.

Watch Video Solution

2. The base of an isosceles triangle is 12 cm

and its perimeter is 32 cm. Find its area.

Watch Video Solution

3. The area of a rhombus id 
 and one

of its diagonal is double the other.
 The length

144 cm
2
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of the longer diagonal is
 (a)12 cm (b) 16 cm

(c)18 cm (d) 24 cm

Watch Video Solution
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